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I\
f - 9.1 18.2 0.0 0.0 0.0 0.0 0.0 18.2 81.8
_— 5 0 0 0 0 0 0 0 0 5
- 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00[ 1000
15 0 0 0 0 0 0 0 0 15
e - 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00[ 1000
8 0 0 0 0 0 0 0 0 8
xE - 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00[ 1000
5 Al 5y 95 2 1 0 2 2 1 0 3 89
-iE - 2.1 1.1 0.0 2.1 2.1 1.1 0.0 3.2 93.7
i':lJ & @ 49 1 3 0 0 0 2 0 1 45
22 - 2.0 6.1 0.0 0.0 0.0 4.1 0.0 2.0 91.8
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132 S& MABITHMELOERVETH (BTIFELIESF1DIC0O(FB)EDIFTEZEL, )
& |LER|zR[(VLE| & 3
i | TE(ILX|EE]| H =]
W | M| BE| B %
Bz |wvwg | A
S (= 5| L
x T o)
R EY Z| = 4
T EE
144 3 4 2 1| 134
=k 100.0 2.1 2.8 1.4 07| 930
. 0 0 0 0 0 0
19AT 0.0 0.0 0.0 0.0 0.0 0.0
1 0 0 0 0 1
2078~ 297% 100.0 0.0 0.0 0.0 00| 1000
33 2 2 0 0 29
& S0R~ 39 100.0 6.1 6.1 0.0 00| 878
80 1 1 1 1 76
Eﬁ 407~ 4958 100.0 1.3 1.3 1.3 13| 948
27 0 1 0 0 26
S0/~ 59 100.0 0.0 3.7 0.0 00| 963
. 1 0 0 0 0 1
60RLLE 100.0 0.0 0.0 0.0 00| 1000
wEE 2 0 0 1 0 1
T 100.0 0.0 00| 500 0.0] 500
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B33 RFEFHFIHoTHEEBE T SMRICE - EFAITE A (HTEFESESETIZO(FR)EDIFTESLY)

& |BEE| BB |hRM| X [DERBR|NCR TR | om | ®
i oWV &S || oA [oAB|EF]| D iz | & =]
SWIZ| & [FF| =8 |[=R#&| HH| # ME | AE %
=8| G vl 3) 1% 20| ME 22 | 4H
S| A TH paN MRl BT == | L&
M| 2% 0] P SEl BH c L
%szﬂ Lhn| =# HEE LAY Il 5 & =
.ala
Jn 144 4 31 3 22 1 7 25 65 46 10
- 2.8 21.5 2.1 15.3 0.7 4.9 17.4 45.1 31.9 6.9
. 0 0 0 0 0 0 0 0 0 0 0
19 AT - 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1 0 1 0 0 0 0 0 0 0 0
2078~ 297K - 00| 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3015~ 395 33 1 11 3 8 1 4 3 9 10 1
& - 3.0 33.3 9.1 24.2 3.0 12.1 9.1 27.3 30.3 3.0
80 1 15 0 11 0 3 18 40 29 4
Eﬁ A0~ 4958 - 1.3 18.8 0.0 13.8 0.0 38 225 50.0 36.3 5.0
27 2 3 0 2 0 0 4 15 6 5
S0/~ 59 - 7.4 11.1 0.0 74 0.0 0.0 14.8 55.6 222 185
603 LLE 1 0 1 0 1 0 0 0 0 0 0
- 00| 100.0 00| 100.0 0.0 0.0 0.0 0.0 0.0 0.0
wEE 2 0 0 0 0 0 0 0 1 1 0
- 0.0 0.0 0.0 0.0 0.0 0.0 0.0 50.0 50.0 0.0
A 39 1 7 0 6 0 2 6 21 17 2
o - 26 17.9 0.0 15.4 0.0 5.1 15.4 53.8 43.6 5.1
- 9 1 1 0 0 0 1 3 5 3 1
T - 11.1 11.1 0.0 0.0 0.0 11.1 33.3 55.6 33.3 11.1
% 16 1 3 0 2 0 0 4 9 3 2
- 6.3 18.8 0.0 125 0.0 0.0 25.0 56.3 18.8 125
Bk 4 0 2 1 1 0 0 0 2 1 0
- 0.0 50.0 25.0 25.0 0.0 0.0 0.0 50.0 25.0 0.0
. 17 1 7 1 5 1 2 2 6 2 0
= it - 59 412 59 29.4 59 1.8 1.8 35.3 1.8 0.0
Wi 11 0 1 0 1 0 2 3 3 4 1
] ’ - 0.0 9.1 0.0 9.1 0.0 18.2 27.3 27.3 36.4 9.1
9 0 2 0 1 0 0 1 5 1 1
Lt - 0.0 222 0.0 11.1 0.0 0.0 11.1 55.6 11.1 11.1
I 11 0 2 0 2 0 0 2 4 4 2
- 0.0 18.2 0.0 18.2 0.0 0.0 18.2 36.4 36.4 18.2
=1t 5 0 1 0 0 0 0 0 2 2 0
- 0.0 20.0 0.0 0.0 0.0 0.0 0.0 40.0 40.0 0.0
e 15 0 4 0 3 0 0 2 5 4 1
- 0.0 26.7 0.0 20.0 0.0 0.0 13.3 33.3 26.7 6.7
xu 8 0 1 1 1 0 0 2 3 5 0
- 0.0 125 125 125 0.0 0.0 25.0 37.5 62.5 0.0
5 Al 5y 95 2 20 1 14 0 5 18 47 28 9
' - 2.1 21.1 1.1 14.7 0.0 5.3 18.9 49.5 29.5 95
i':lJ & mL 49 2 11 2 8 1 2 7 18 18 1
228 - 4.1 224 4.1 16.3 2.0 4.1 14.3 36.7 36.7 2.0
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B34 Sk MBLEVDRELERBTTTD. (hTRFIBESLTIZO(FD) E2HTESLY,)
BB | E BB X [O7 |0 B | R | N |B || 8| ®
| R | & 2l &8 |v7| & | B | Vv B |o0o|lic]|@
| B | £ || <|aE| 8@ | £ | 2| = || &%
% | B -l ]| - v | B L
| £ A Lt £ | & | 8| &
| = K| BB E| &
LB EH | HA [ i B
T EE
£k 144 3 2 1 3 6 11 0 1 13 4 25 84 11
- 2.1 1.4 0.7 2.1 4.2 7.6 0.0 0.7 9.0 2.8 17.4 58.3 7.6
N 0 0 0 0 0 0 0 0 0 0 0 0 0 0
19T - 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0]
1 0 0 0 0 0 0 0 0 0 0 0 1 0
207 ~ 2978 - 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0] 100.0 0.0]
33 1 1 1 1 4 8 0 0 1 1 6 19 0
5 307 ~ 3958 - 3.0 3.0 3.0 3.0 121 24.2 0.0 0.0 3.0 3.0 18.2 57.6 0.0]
80 2 1 0 1 2 3 0 1 9 2 14 44 8
Eﬁ 407~ 4978 - 2.5 1.3 0.0 1.3 2.5 3.8 0.0 1.3 11.3 2.5 17.5 55.0 10.0
27 0 0 0 1 0 0 0 0 2 1 5 18 3
507 ~ 5958 - 0.0 0.0 0.0 3.7 0.0 0.0 0.0 0.0 7.4 3.7 18.5 66.7 111
602 LI E 1 0 0 0 0 0 0 0 0 1 0 0 0 0
- 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0] 100.0 0.0 0.0 0.0 0.0]
mEE 2 0 0 0 0 0 0 0 0 0 0 0 2 0
- 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0] 100.0 0.0]
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5. FEEORK
f35 BEDEEE. ROENITHALETH, (HTEFESLIES1DIZ0(FR)EDIFTHIEEL,)
Bl ELIE I #t [ &# |RAKR| % =3
it lEs | BRE| B E 2 m O BE| O =]
ER|CE| & . = L - | Mt %
T |-E| = = % = bl
- R — = % A
& 6 E = E
Ry R %2 E Iz
T EE
Jn 144 88 20 4 0 2 1 25 1 3
1000] 610/ 139 2.8 0.0 14 07| 174] 07 2.1
0 0 0 0 0 0 0 0 0 0
19 L
BT 00] 00 o0of o0 00 o00] 00| o00f o0 00
1 1 0 0 0 0 0 0 0 0
207%~29
# # 1000] 1000 00/ 00|/ 00| o00f o00f 00/ 00| 00
3015~ 395 33 18 9 3 0 1 0 2 0 0
& & & 1000] 545 273 91| 00| 30| 00| 1] 00l o0
80 49 10 1 0 1 1 17 0 1
407% ~49
Eﬁ # # 1000] 610/ 125 1.3 0.0 1.3 13| 213 0.0 1.3
27 19 0 0 0 0 0 5 1 2
507% ~59
# # 1000 704/ 00/ 00|/ 00| o00f 00 185 3.7 7.4
603 LLE 1 0 0 0 0 0 0 1 0 0
& 10000 00f 00/ 00| 00| o00f o00f 1000] 00| 00
wEE 2 1 1 0 0 0 0 0 0 0
T 100.0] 500 500 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A 39 22 7 2 0 0 0 5 1 2
o 1000] 565 17.9 5.1 00/ 00f o0l 128 26 5.1
- 9 8 1 0 0 0 0 0 0 0
T 1000] 889 111 00/ o00of o0 00/ o00] 00 00
% 16 12 0 1 0 0 0 3 0 0
1000] 749 00| 63 00/ o00f o0l 188 00| 00
Bk 4 0 1 0 0 0 0 3 0 0
10000 00[ 250 00| 00| o00f o00f 750 00| 00
. 17 7 8 1 0 0 0 1 0 0
= it 1000] 412 470 59 00/ 00| 00 59 00| 00
Wi 11 10 0 0 0 1 0 0 0 0
] ’ 1000] 909 00/ 00| 00 9.1 00/ 00 o0/ 00
L 9 3 1 0 0 1 1 3 0 0
1000] 334 111 00/ 00 111 111] 333 00| 00
I 11 7 1 0 0 0 0 2 0 1
1000] 636 9.1 00/ o00f o0of o0 182 0.0 9.1
=1t 5 4 0 0 0 0 0 1 0 0
1000 800[ 00/ 00|/ 00| o00f o00f 200 00| 00
e 15 9 1 0 0 0 0 5 0 0
1000] 600 6.7 00/ o00f oo o0 333 00| 00
xu 8 6 0 0 0 0 0 2 0 0
1000 750 00/ 00|/ 00| o00f o00f 250 00| 00
5 Al 5y 95 64 1 1 0 1 1 24 0 3
wE 1000]  67.1 1.1 1.1 0.0 1.1 1.1] 253 00| 32
i':lJ & mL 49 24 19 3 0 1 0 1 1 0
228 100.0] 49.1[ 388 6.1 0.0 2.0 0.0 2.0 2.0 0.0
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6. EEO®KR
38 HE-OREOEFTEE. ROENIZETENMDATVET A, (HTREZEELTIZO(FB) EDHTHEEL,)
2 | 58 |[A0H| & E3 B 7| R | B w z =
# |we | 9| = 5 m |E#rRo| A | B #t ) E
A0 | =zl #% ® E |eEH| Bw | B 4 1t =
| = = # £ |e&g20| A
2| f0| F % &5 .
iz | 2% & E
T 2&
144 137 56 91 0 1 8 5 5 0 11 3
@17\& —| 95.1 38.9 63.2 0.0 0.7 5.6 3.5 3.5 0.0 7.6 2.1
. 0 0 0 0 0 0 0 0 0 0 0 0
19!‘{&U~T - 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0]
1 1 1 1 0 0 0 0 0 0 0 0
ZOI‘{& 29;‘{& - 100.0 100.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0]
33 30 11 22 0 0 1 0 1 0 2 0
-’EE SOI‘{& 39;‘{& - 90.9 33.3 66.7 0.0 0.0 3.0 0.0 3.0 0.0 6.1 0.0]
80 78 31 51 0 0 5 5 4 0 8 1
Eﬁ 40[4{& 49[4{& - 975 38.8 63.8 0.0 0.0 6.3 6.3 5.0 0.0 10.0 1.3
27 25 12 15 0 1 2 0 0 0 1 2
50[1{& 59[1{& - 92.6 444 55.6 0.0 3.7 74 0.0 0.0 0.0 3.7 7.4
GOﬁ&uJ: 1 1 1 1 0 0 0 0 0 0 0 0
- 100.0 100.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0]
#@E 2 2 0 1 0 0 0 0 0 0 0 0
—| 100.0 0.0 50.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0]
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fI39 Szl BE, £ERE. ANER. RERBFUEZHBLTVEI D (FEFOERICEL. HTIELSES12(20(FR) EDIFTESELY,)

@ 4EERE

& Ea Ea -3
Bl | A ]
L L %
T T
(A (A
% LAY
R EH Ly
T EE
144 o] 138 6
=ik 1000 00| 958 42
0 0 0 0
19/ L
AT 00] o00f 00| 00
1 0 1 0
207% ~29
% % 1000 00| 1000[ 00
33 0 33 0
30/% ~39
. % % 1000} 00| 1000/ 00
80 0 77 3
407%~49
%ﬁ % % 1000 00| 962 38
27 0 25 2
507% ~ 59
% % 1000 o0 926 74
1 0 1 0
60/ LI E
L 1000} 00| 1000/ 00
2 0 1 1
4[] 2
REE 1000} 00| 500/ 500
Q@ BHES
& [l Ea 3
L R
L L %
T T
(A (A
% LAY
R EH Ly
T EE
144 o 138 6
=k 1000 00| 958 42
0 0 0 0
19/ L
AT 00] o00[ 00| 00
1 0 1 0
20/% ~29
# # 1000 00| 1000[ 00
33 0 33 0
30/% ~39
& # # 1000} 00| 1000/ 00
80 0 77 3
407%~49
%ﬁ # # 1000 00| 962 38
27 0 25 2
507% ~ 59
% # 1000 00| 926 74
1 0 1 0
60/ LI E
L 1000 00| 1000[ 00
2 0 1 1
4[] 2
REE 1000} 00| 500/ 500
Q@ REKEFY
& |dm| E—| =2 3
H3 B =8| & [E]
2| #iE| L %
Ww|LEE| T
L|TL]| L
T|Wi=| #
i I I
=)
144 34 84 23 3
=ik 1000] 236/ 583 160[ 21
0 0 0 0 0
19/ L
BT 00] o00of o00of 00| 00
1 1 0 0 0
20/% ~29
# # 1000] 1000 o00] o00[ 00
33 14 15 4 0
30/% ~39
& # # 1000] 424| 455 121 0.0
80 11 54 14 1
407% ~49
%ﬁ # # 1000] 138 674 175 1.3
27 8 12 5 2
507% ~ 59
# # 1000] 296] 445 185 74
1 0 1 0 0
60/ LI E
L 1000] 00| 1000 00[ 00
2 0 2 0 0
4[] 2
REE 100.0 0.0] 100.0 0.0 0.0
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40 HE-OEFIZONT, EFH28FEDINAZEEFFTLALTIZEL,, URADFEFIZEL., OLA) OFIZEHFHFTRALTZELY, )
D tHHEEEBOEFRA
& 5 15(11]21]22]|32(33[43|44|54|55[65|76][87 8 3
H3 0 0o0|50|05(50[05|50|05|50[05[50[05|]00]00 0 B
% |os|loo0|o00]j]oOoO0O|[0O0f[0O0O|OO|OO|J]OO|OOf[OO|OO]|OO 0 %
A\ BRI BR|BR|BB|BE|BR|BR|BR|BB|BE|BR|BR|BFR| B
* |AS AR |(AA|(AM|(AA|AA|AA|AAQ AR |AR|AEB|(AB(AA| B
IS KS|IRS|KS|EKS|EKS[EKS|KRS|FKS|EKS[EKS[FRS|FS| K
%i : fuﬁ b b b b b b b b b b b b i +
=)
Jn 144 2 1 0 4 5 12 10 5 6 3 8 2 4 1 4 77
100.0 1.4 0.7 0.0 2.8 35 8.3 6.9 35 4.2 2.1 5.6 1.4 2.8 0.7 28] 533
19 LT 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
& 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
205 ~ 295 1 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0
& & 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0
305~ 395 33 1 0 0 2 3 6 2 1 1 1 0 1 1 0 0 14
& & & 100.0 3.0 0.0 0.0 6.1 91| 182 6.1 3.0 3.0 3.0 0.0 3.0 3.0 0.0 00| 425
80 0 1 0 2 1 5 5 3 1 1 6 1 2 1 3 48
g | 40 ~49%
5 100.0 0.0 1.3 0.0 25 1.3 6.3 6.3 38 1.3 1.3 75 1.3 25 1.3 38| 595
505 ~59% 27 1 0 0 0 1 1 3 1 3 1 2 0 1 0 1 12
& & 100.0 3.7 0.0 0.0 0.0 3.7 37| 1141 37| 114 3.7 74 0.0 3.7 0.0 37| 445
603 LLE 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1
& 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
wES 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2
100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
ﬁﬁ 5Y 95 1 0 0 0 3 9 3 2 4 3 8 0 2 1 2 57
' 100.0 1.1 0.0 0.0 0.0 3.2 95 3.2 2.1 4.2 3.2 8.4 0.0 2.1 1.1 21| 598
;.;‘,j%‘ mL 49 1 1 0 4 2 3 7 3 2 0 0 2 2 0 2 20
D 100.0 2.0 2.0 0.0 8.2 4.1 6.1] 143 6.1 4.1 0.0 0.0 4.1 4.1 0.0 41| 408
_ 126 2 1 0 4 5 12 7 5 5 1 6 1 2 1 4 70
100.0 1.6 0.8 0.0 3.2 4.0 95 5.6 4.0 4.0 0.8 48 0.8 1.6 0.8 32| 553
2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2
AN
RIBOR 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
B | %5 16 0 0 0 0 0 0 3 0 1 2 2 1 2 0 0 5
100.0 0.0 0.0 0.0 0.0 0.0 00| 188 0.0 63| 125 125 63| 125 0.0 00| 31.1
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
Al ~B
£ 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Az 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Z0M 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= 58 0 1 0 2 1 5 6 4 3 1 6 2 2 1 0 24
EfR%t
BRHR 100.0 0.0 1.7 0.0 34 1.7 86| 103 6.9 5.2 17| 103 34 34 1.7 00| 417
- 19 0 0 0 0 1 2 1 0 1 0 2 0 1 0 0 11
y it
B R 100.0 0.0 0.0 0.0 0.0 53| 105 53 0.0 53 00| 105 0.0 53 0.0 00| 578
B | "=k 71 of of ol of 2o o 2[ of of of o of of o of o 5
T 100.0 0.0 0.0 00| 222 00| 222 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 556
D | 2sma 6 0 0 0 0 0 0 1 0 0 0 0 0 0 0 3 2
E|® 100.0 0.0 0.0 0.0 0.0 0.0 00| 167 0.0 0.0 0.0 0.0 0.0 0.0 00| 500[ 333
A - 30 1 0 0 0 2 2 1 0 1 1 0 0 1 0 1 20
% 100.0 33 0.0 0.0 0.0 6.7 6.7 3.3 0.0 33 33 0.0 0.0 33 0.0 33| 6658
Be N -
L REARETIME 11 0 0 0 0 1 0 1 0 1 0 0 0 0 0 0 8
A cER 100.0 0.0 0.0 0.0 0.0 9.1 0.0 9.1 0.0 9.1 0.0 0.0 0.0 0.0 0.0 00| 727
20 1 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0
100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000 0.0 0.0 0.0 0.0 0.0 0.0
wEE 10 1 0 0 0 0 1 0 1 0 0 0 0 0 0 0 7
T 100.0} 10.0 0.0 0.0 0.0 0.0 100 0.0 100 0.0 0.0 0.0 0.0 0.0 0.0 0.0] 700
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Q HHEEBDEFHPADIL. HE-DEFUIA

& 5 15(11]21]22]|32(33[43|44|54|55[65|76][87 8 3
H3 0 0o0|50|05(50[05|50|05|50[05[50[05|]00[00 0 B
% |oxs|loo0|o0oo0joO0O|[0O0f[0O0|OO|OO|J]OO|OOf[OO|OO]|OO 0 %
A\ BRI BR|BR|BB|BE|BR|BR|BR|BB|BE|BR|BR|BFR| B
* |AS AR |(AA|(AM|(AA|AA|AA|AAQ AR |AR|AEB|(AB(AA| B
IS KS|RS|KS|EKS|EKS[EKS|KRS|FKS|EKS[EKS[FRS|FS| K
%z : fﬂ b b b b b b b b b b b b i +
=)
P 144 1 1 4 6 12 10 13 8 8 1 3 1 4 0 4 68
100.0 0.7 0.7 2.8 4.2 8.3 6.9 9.0 5.6 5.6 0.7 2.1 0.7 2.8 0.0 28| 471
198 L1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
& 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
205~ 295 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0
& & 100.0 0.0 00| 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
305~ 395 33 0 0 1 2 3 4 3 2 1 0 0 1 1 0 0 15
& & & 100.0 0.0 0.0 3.0 6.1 9.1 121 9.1 6.1 3.0 0.0 0.0 3.0 3.0 0.0 00| 455
B | 408 ~a0 80 0 1 1 2 6 4 8 5 6 1 1 0 3 0 2 40
EH & & 100.0 0.0 1.3 1.3 25 75 50 100 6.3 75 1.3 1.3 0.0 3.8 0.0 25| 497
5015 ~59% 27 1 0 1 2 3 2 2 1 1 0 2 0 0 0 2 10
& & 100.0 3.7 0.0 3.7 74 111 7.4 74 3.7 3.7 0.0 7.4 0.0 0.0 0.0 74| 3711
603 LLE 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1
& 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
wEE 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2
TR 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0] 100.0
ﬁﬁj 5Y 95 0 0 3 3 10 7 6 5 6 1 3 0 2 0 2 47
' 100.0 0.0 0.0 3.2 32| 105 74 6.3 5.3 6.3 1.1 3.2 0.0 2.1 0.0 21| 493
;.;‘,j%‘ mL 49 1 1 1 3 2 3 7 3 2 0 0 1 2 0 2 21
D™ 100.0 2.0 2.0 2.0 6.1 4.1 6.1 143 6.1 4.1 0.0 0.0 2.0 4.1 0.0 41| 430
_ 126 1 1 4 6 10 8 9 7 7 1 1 0 4 0 4 63
100.0 0.8 0.8 3.2 48 7.9 6.3 7.1 5.6 5.6 0.8 0.8 0.0 3.2 0.0 32| 499
2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2
AN
RIBOR 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
B | %5 16 0 0 0 0 2 2 4 1 1 0 2 1 0 0 0 3
100.0 0.0 0.0 0.0 00| 125 125 248 6.3 6.3 00| 125 6.3 0.0 0.0 00| 188
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
21 Nt
£ 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Az 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Z0M 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= 58 0 1 1 3 6 4 7 5 3 0 3 1 3 0 0 21
EfR%t
BRHR 100.0 0.0 1.7 1.7 52[ 103 69| 121 8.6 5.2 0.0 5.2 1.7 52 0.0 00| 36.2
TR 19 0 0 0 0 3 3 2 2 1 0 0 0 0 0 0 8
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